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Scenario:

The Lego© Block production line
produces a certain percentage of
defects.

The customer accepts less than 2
mm defect length. The Quality
Control team will reject detect
greater than 2mm.

SPC: Lego Defect Process Control 4,1? PathStone Group



Instructions:

1.  Receive the blocks at the end of the line. Measure the defect length, if any.
2.  Prepare an ImR chart and track the results in real time as the production line

keeps producing blocks.
1.  Anychanges?

Is the production under specification?

2
3.  Anytrends to be out of specification?
4 Discuss finding and opportunities to improve during production.

Obs1] Obs2 | Obs3 | Obsd4 | Obs5 | Obs6 | Obs? | Obs8 | Obs3 | Obs10
X Chart Title
L v v v v - v v - v v
350.0000 T

1 7= I I I I O e e e I
2 268 300.0000 1 /\
3 137
Fi z00 200000 £% A .
5 268 v
& 137 o 2000000 { 44
7 Z3d -
& 320 £ 10000 £
3 233
10 200 100.0000 +
1 163 ]
12 250 50,0000 +
13 250 0.0000
::g ggg . R I S B R R R b o Tl . -]
12 ggg Date Time/Period Number
18 250
;% 232 mR Chart Title
21 -
2 T
24 20

70
; .
27 ] 10
28 - 30
° IR R

10
3t N S NS U SN
gg T RR A NN EE L ER R DDA LEE R
a Date Tima/Period Number

SPC: Lego Defect Process Control

Number

L]
14

Histogram

200.00

250 17500 18730 200.00

150 2500 BT 25000

300.00

26250 27300 28750 30000

31250 31300 3373

Probability Plot

-10

=204

50th parcentile

Meené t g
Standard Deviaton (S4th-50th

‘.

y = 002882 - 7.1[141

R*=0.0158

30
n
0

1o

150 0o pli]
Data

300




	Slide 1
	Slide 2
	Slide 3

